


Gruppe: A 11 | Bydraulikrahmen

Bild Bestell Case Bezeichnung
¥e. Nz. B3zt ¥.

p//cf’/S |
1 A 11-911 ' | Frontrahmen
2 A 11-912 | Seitenwance links
3 A 11-913 i " rechts
4 A 11-914 | Zugstance  links
5 A 11-915 | = rechts
6 A 11-916 Fubschwinge
7 A 11-917 Unterlenker links
8 A 11-918 “ rechts
g A 11-919 Scharnierwelle
10 A 11-9110 Getriebekonsole recht
11 A 11-9111 ” links
12 A 11-9112 Oberlenkerbolzen
13 A 11-9113 Xlappsplint 8 mm
14 A 11-9114 Nummerschildplatte
15 A 11-9115 Schraube
16 D 10-M12/35 Schraube
17 A 11-9117 PTO-Schutzschild
18 A 11-M16 Stahlmutter
19 D 10-424 "
20 A 11-9120 Schraube
21 A 11-9121 . Batteriekasten
22 B 11-828 Flligelmutter
23 A 11-9123 Tragwinkel
24 A 11-M8/25 Schraube
25 A 11-9125 Zylinderbolzen unten
26 A 11-9126 Schwerspannstift
27 B 11-8233 Druckfeder
28 8 11-8232 Sperrbolzen
29 A 11-9127 Schwerspannstift
30 B 11-8211 ‘ Klappsplint
Jl A4 11-9129 U-schelibe
32 A 11-9130 i Arretierbolzen
33 D 10-5/8x2" a Schraube
34 - D 10-M16x60 Schraube m. Mutter
J5 A 11-9133 x federring
16 D 10-M16x40 Schraube
37 A 11-8135 ” mit Federr.
Ja A 11-9136 {|Rahmenblende




